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Moltiplicazione a 3 cifre

496
x640

255
x232

693
x535

680
x123

Data:

532
x303

906
x279

670
x814

446
X764

www.snowmath.com

Punteggio:

3838
x919

600
x971

220
x294

433
X912
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Moltiplicazione a 3 cifre

Nome:

496
x640
0
1984
2976
317440

255
X232
510
765

510
59160

693
x535
3465

2079
3465
370755

680
x123
2040

1360
680
83640

906
x279
8154

6342
1812
252774

670
x814
2680
670

5360
545380

446
x764
1784

2676
3122
340744

www.snowmath.com

Punteggio:

838
x919
7542
838

7542
770122

600
x971
600

4200
5400
582600

220
x294
880

1980
440
64680

433
x912
866
433

3897
394896
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